- GOMPONENTS

_—/

B |

part of the EVOX RIFA GROUP

uF  ¥20%
500 VDC

/105/56

R102MFS00

KMADE




S@f@wcg@o al

ALS30/40

series

Listed here are only samples of the
range of Screw Terminal Capacitors
we can produce.

Electrical characteristics and case
size are just two parameters that
can be optimised by our design
engineers to achieve the exact
product you require. Please
contact our sales office for more
details.

UK MADE

ALS30/31 Series

The ALS30/31 series of screw terminal capacitors cover a
wide range of case sizes and voltage ratings featuring high
ripple currents and long life performance. They are ideally
suited for industrial and commercial applications demanding
high reliability and long life expectancy such as frequency
converters, UPS systems and switch mode power supplies.

ALS40/41 Series

The ALS40/41 series of screw terminal capacitors feature the
same high ripple currents and long life characteristics as the
ALS30/31 series but can operate at higher temperatures.
They are similarly suited for high reliability and long life
applications such as frequency converters, UPS systems and
switch mode power supplies, but the extended temperature
range allows increased ripple currents at lower
temperatures.

Capacitance | 68pF to 100uF to
Range | 1,500,000uF 1,500,000uF
Capacitance
Tolerance | +20% +20%
Voltage | 10V to 10V to
Range | 600V d.c. 500V d.c.
Temperature | -40°C to -40°C to
range | +85°C +105°C
Case sizes | 36 x 52mm to | 36 x 52mm to
91 x 220mm 91 x 220mm

BH

part of the EVOX RIFA GROUP

S

‘ COMPONENTS

17



18

S@f@wcg@f .al

CASE DIMENSIONS AND TERMINAL STYLES

Terminations
Aluminium inserts with M5 threads as standard, max. torque

2NM. Optional Mé threaded inserts have a max. torque 4NM.

Max. torque for stud mounting M8:4NM and M12:8NM

Terminal options

(preferred options shown in bold)

Term. Thread Height Dia. - DT Thread depth Drawing

Style T-mm mm TD - mm

0.5 +0.5 minimum
A" M5 5.5 13 10 Fig.2
A M5 7.14 8 10 Fig. 1
B M5 7.14 13 10 Fig.1
C M6 5.5 13 10 Fig.1
F M5 2.36 8 5.3 Fig.1
G M6 6.35 17 11.8 Fig.1
J M6 3.17 17 8.8 Fig.1
M M5 7.14 8 10 Fig.1
R3 M5 5.5 15 10 Fig. 2

Notes: 'Terminal post with flats.
Can diameters 51, 66, 77, 91mm.
Dimension Z is 10mm.

2 Can diameter 36mm only.

3 Terminal post with flats.
Dimension Z is 13mm.

Mounting

Any position but refer to the earlier section ‘Application &
Operation’. Details of mounting clips and stud mounting
kits can be found near the back of the catalogue.

Stud Mounting - ALS31/41

Case Polarity - due to the presence of electrolyte in the
capacitor the aluminium can and stud mounting will
essentially be at the same potential as the negative termi-
nal. BHC therefore recommends that the stud and can are
insulated (see accessories for insulating nuts).

BH CCOMPONENTS

part of the EVOX RIFA GROUP.

ALS YU EQ

Fig. 1 - Terminal Styles A%, B, C, F, G, J, M
5 Safety Vent

"+” SIGN

.
_f

ALS30/40 >

T (measured
from deck
surface)
Lt| L
A 4 A
le N
! @D !
ALS31/41 E
7Y
H
N

4,‘ M ‘4, Insulating Disk



DIMENSIONS (sleeved) mm

CASE D L Lt S T \Y M H
CODE 1 12 +1 0.5 0.5 mm THREAD #1
DA 36 52 585 12.8 7.14 8 M8 12
DB 36 62 675 128 7.14 8 M8 12
DE 36 82 875 128 7.14 8 M8 12
DF 36 105 111.5 12.8 7.14 8 M8 12
KE 51 82 86.5 222 55 13.7 M2 16
KF 51 105 110.5 22.2 55 13.7 M12 16
MF 66 105 110.5 28.5 5.5 158 M12 16
ND 77 75 79.5 31.8 5.5 19 M12 16
NF 77 105 110.5 31.8 5.5 19 M12 16
NP 77 146 150.5 31.8 5.5 19 M2 16
NT 77 220 2245 31.8 5.5 19  M12 16
RC 91 67 715 31.8 5.5 25 M12 16
RD 91 75 795 31.8 5.5 25  M12 16
RH 91 98 103.5 31.8 5.5 25 M12 16
RP 91 146 149.5 31.8 5.5 25  M12 16
RT 91 220 223.5 31.8 5.5 25 M12 16

* Dimensions Lt will change dependant on terminal style.

case sizeA&eSchmcal %@

MOUNTING  WEIGHT grams Terminal Style
CLIP nom. "A2B CF GJ MR
V3/H2/UTE2736 75 . c .
V3/H2/UTE2736 90 . . .
V3/H2/UTE2736 115 . o .
V3/H2/UTE2736 140 . . .
V4/UTE2737 220 5 c . .
V4/UTE2737 300 . . . . .
V10/UTE2738 505 . o c .
V11 495 . o e e o o o
V11 690 3 5 5 0 0 ¢
V11 960 . . o e o o
V11 1450 . o < 5 0 0 ¢
V90 615 . . e .
V90 690 - o c .
V90 900 . . e .
V90 1345 . o G .
V90 2000 . . e .

TECHNICAL DATA

Related documents

IEC 384-4

Temperature range

ALS30/31

Storage -55°C to +85°C
Operating -40°C to +85°C
Environmental classification 40/085/56

ALS40/41

Storage -55°C to +105°C

Operating -40°C to +105°C

Environmental classification 40/105/56

Surge voltage

1000 surges (30 seconds) at 85°C (ALS30/31) and 105°C

(ALS40/41) with surge voltage applied. See electrical
characteristics for more details.

SHORT DURATION SURGE VOLTAGE (<500 mS)

RATED VOLTAGE SURGE VOLTAGE
200 350
250 400
350 500
400 520
415 530
450 550
500 600
Charge/discharge

D.C. leakage current

After application of rated d.c. voltage for 5 minutes at 20°C,

the d.c. leakage current shall not exceed 0.006 C_U_(0.003
C, U, for ALS40) or 6mA whichever is the smaller. Where C _is
the rated capacitance in pF and U_is the rated d.c. voltage.

Vibration

10Hz to 55Hz at 0.75mm or 10g for 3x2hrs duration. Except
220mm long cans 10-55hz at 0.35mm or 5g for 3x0.5hrs
duration.

Insulation resistance
> 100MQ at 100V d.c., across insulating sleeve.

Voltage proof
> 2500V d.c., across insulating sleeve.

Capacitor marking

The capacitors are marked with items 1 to 6 from the
following list as a minimum, and as much of the remaining
information as is practical.

Rated capacitance in pF

Rated voltage d.c.

Polarity of terminations
Tolerance on rated capacitance
Date code/Batch number

BHC part number
Environmental classification

NoughwbN=

10°¢ cycles at 25°C and rated voltage. One cycle per second
with a time constant of 0.1.

Technical data continued overledf....

H‘ COMPONENTS

part of the EVOX RIFA GROUP

19



20

Serew~lermina

Ripple current

The following values are approximate only, to give an
indication of the effects of frequency and temperature on
ripple current. More accurate data can be obtained by
referring to the Application Notes available from BHC.

FREQUENCY CORRECTION

Capacitors shall withstand the rated r.m.s. ripple current as
given in the table at upper category temperature in circulat-
ing air. For frequencies other than those shown the following

formula should be used:
Ripple current =

/ FXA2XB?

100 X (B2 - A?) + (F X A?)

A = 100Hz ripple current

Alecerhidh aatd

TEMPERATURE CORRECTION - ALS40/41
For ambient temperature other than 105°C the following
multipliers should be applied to the 105°C ripple current.

AMBIENT TEMPERATURE FACTOR
50°C 2.5
60°C 2.4
70°C 2.2
85°C 1.8
105°C 1.0

N.B. The sum of the d.c. and a.c. voltage components
should not exceed the d.c. voltage rating.

Life expectancy
At rated temperature with rated voltage and ripple current
applied.

B = 10kHz ripple current Can Diameter Range Life Expectancy (hours)
F = Required frequency (Hz) 36 ALS30/31 11000
ALS40/41 6000
TEMPERATURE CORRECTION - ALS30/31 2l L DTG
. . . ALS40/41 7000
For ambient temperature other than 85°C the following
multipliers should be applied to the 85°C ripple current £e L0 A0
P PP PP : ALS40/41 8000
AMBIENT TEMPERATURE FACTOR el AALED0 o ZLL0Y
3 ALS40/41 9000
50°C 2.1
60°C 1.9
70°C 1.7
85°C 1.0
Rated voltage Cap Case ESR (mQ) Impedance (mQ) Ripple current Type number
d.c. (WF) Size at 20°C at 20°C (A) at 85°C
(mm) 100Hz (max) 10 KHz (max) 100 Hz 10 KHz
10V d.c. 33000 36x52 20 18 8.4 8.9 ALS3 - - 333DA010
47000 36x62 15 14 10.2 10.7 ALS3 - - 473DB010
(11.5V surge) 68000  36x82 10 9 13.6 143 ALS3 - - 683DE010
100000 36x105 8 8 171 17.9 ALS3 - - 104DF010
150000 51x82 8 7 16.0 18.0 ALS3 - - 154KE010
220000  51x105 7 6 20.6 22.0 ALS3 - - 224KF010
330000 77x75 10 10 18.4 18.5 ALS3 - - 334ND010
330000 66x105 6 5 24.4 26.0 ALS3 - - 334MF010
330000 91x67 8 8 22.6 23.1 ALS3 - - 334RC010
470000 91x75 11 11 19.4 19.5 ALS3 - - 474RD010
470000 77x105 5 5 30.8 32.8 ALS3 - - 474NF010
680000 91x98 7 6 27.9 28.0 ALS3 - - 684RHO10
680000 77x146 5 4 32.3 32.7 ALS3 - - 684NP010
1000000 91x146 4 4 45.3 45.6 ALS3 - - 105RP010
1000000 77x220 4 4 44.7 45.3 ALS3 - - 105NT010
1500000 91x220 4 4 53.8 54.3 ALS3 - - 155RT010
Mounting Style 0 or 1 ﬂ
Termination Style A,B,C,F,G,J,M or R

Ordering information
For full ordering details see pages 54 & 55.

BH CCOMPONENTS

part of the EVOX RIFA GROUP.



ALS30/31

Rated voltage Cap Case ESR (mQ) Impedance (mQ) Ripple current Type number
d.c. (uF) Size at 20°C at 20°C (A) at 85°C
(mm)  100Hz (max) 10 KHz (max) 100Hz 10 KHz
16V d.c. 22000 36x52 22 18 8.3 8.8 ALS3 - - 223DA016
33000  36x62 17 14 10.1 10.6 ALS3 - - 333DB016
(18.4V surge) 47000  36x82 11 10 13.4 14.1 ALS3 - - 473DE016
68000  36x105 9 8 16.9 17.7 ALS3 - - 683DF016
100000  51x82 10 9 16.0 16.9 ALS3 - - 104KE016
150000  51x105 8 7 20.0 20.9 ALS3 - - 154KF016
220000  77x75 10 10 18.5 18.6 ALS3 - - 224ND016
220000  66x105 6 5 29.3 29.7 ALS3 - - 224MFO16
330000  91x67 8 8 2.6 23.1 ALS3 - - 334RCO16
330000  91x75 11 11 19.1 19.2 ALS3 - - 334RD016
330000  77x105 5 5 28.6 30.8 ALS3 - - 334NFO16
470000  91x98 7 7 27.6 27.8 ALS3 - - 474RHO16
470000  77x146 5 5 38.9 39.6 ALS3 - - 474NP016
680000  91x146 4 4 45.3 45.5 ALS3 - - 684RP016
680000  77x220 4 4 46.7 47.6 ALS3 - - 684NTO16
1000000  91x220 4 3 56.4 57.3 ALS3 - - 105RTO16
25V d.c. 15000 36x52 24 20 8.2 8.7 ALS3 - - 153DA025
22000  36x62 17 15 9.9 10.4 ALS3 - - 223DB025
(28.5V surge) 33000  36x82 11 10 13.2 13.9 ALS3 - - 333DE025
47000  36x105 9 7 16.6 17.4 ALS3 - - 473DF025
68000  51x82 11 10 15.6 16.9 ALS3 - - 683KE025
100000  51x105 9 8 19.6 20.6 ALS3 - - 104KF025
150000  77x75 11 11 17.9 18.1 ALS3 - - 154ND025
150000  66x105 6 6 28.4 28.9 ALS3 - - 154MF025
220000  91x67 9 8 21.9 22.6 ALS3 - - 224RC025
220000  91x75 12 12 18.7 18.8 ALS3 - - 224RD025
220000  77x105 6 6 28.1 30.8 ALS3 - - 224NF025
330000  91x98 8 8 26.4 26.5 ALS3 - - 334RH025
330000  77x146 5 5 37.3 39.6 ALS3 - - 334NP025
470000  91x146 4 4 43.6 43.9 ALS3 - - 474RP025
470000  77x220 4 4 45.8 47.0 ALS3 - - 474NT025
680000  91x220 4 4 55.4 56.7 ALS3 - - 684RT025
40V d.c. 10000  36x52 23 20 7.9 8.4 ALS3 - - 103DA040
15000  36x62 17 14 9.5 10.0 ALS3 - - 153DB040
(46V surge) 22000  36x82 11 10 12.7 13.3 ALS3 - - 223DE040
33000  51x82 12 11 14.2 16.7 ALS3 - - 333KE040
47000  51x82 12 11 14.2 16.7 ALS3 - - 473KE040
68000  51x105 10 9 18.0 20.6 ALS3 - - 683KF040
100000  77x75 13 12 16.4 16.5 ALS3 - - 104ND040
100000  66x105 7 6 26.3 26.6 ALS3 - - 104MF040
100000  91x67 8 7 23.0 24.8 ALS3 - - 104RC040
100000 9175 10 10 20.3 20.4 ALS3 - - 104RD040
150000  77x105 8 8 26.8 30.2 ALS3 - - 154NF040
150000  91x98 7 7 28.6 28.9 ALS3 - - 154RH040
220000  77x146 6 5 35.4 39.6 ALS3 - - 224NP040
220000  91x146 4 4 46.5 47.0 ALS3 - - 224RP040
330000  77x220 4 4 45.0 46.5 ALS3 - - 334NT040
470000  91x220 4 4 52.3 53.4 ALS3 - - 474RT040
63V d.c. 4700 36x52 36 28 6.7 7.4 ALS3 - - 472DA063
6800 36x62 26 20 8.2 9.0 ALS3 - - 682DB063
(72.5V surge) 10000 36x82 17 14 10.8 1.9 ALS3 - - 103DE063
15000  36x105 15 8 10.9 14.4 ALS3 - - 153DF063
15000  51x82 12 11 13.9 14.4 ALS3 - - 153KE063
22000  51x82 12 11 13.9 14.4 ALS3 - - 223KE063
33000  51x105 10 9 17.4 18.0 ALS3 - - 333KF063
47000  77x75 13 13 16.6 16.8 ALS3 - - 473ND063
47000 66x105 8 7 26.7 26.5 ALS3 - - 473MF063
47000  91x75 11 10 20.3 20.7 ALS3 - - 473RD063
68000  91x67 10 9 20.9 2.4 ALS3 - - 683RC063
68000  77x105 8 8 24.7 26.4 ALS3 - - 683NF063
68000  91x98 8 7 28.9 29.6 ALS3 - - 683RH063
100000  77x146 6 6 34.8 35.4 ALS3 - - 104NP063
150000  91x146 5 5 40.2 40.7 ALS3 - - 154RP063
150000  77x220 4 4 43.3 45.1 ALS3 - - 154NT063
220000  91x220 4 4 52.4 54.3 ALS3 - - 224RT063
Ordering information . J %
For full ordering details see pages 54 & 55. _ Mounting Style 0 or 1 J
Termination Style A,B,C,F,G,J,M or R

H‘ COMPONENTS

part of the EVOX RIFA GROUP



Serew~lermina ALS30/31

Rated voltage Cap Case ESR (mQ) Impedance (mQ) Ripple current Type number
d.c. (WF) Size at 20°C at 20°C (A) at 85°C
(mm) 100Hz (max) 10 KHz (max) 100 Hz 10 KHz
100V d.c. 2200 36x52 69 55 4.9 5.4 ALS3 - - 222DA100
3300 36x62 49 39 6.0 6.6 ALS3 - - 332DB100
(115V surge) 4700 36x82 33 27 7.9 8.8 ALS3 - - 472DE100
6800 36x105 23 19 10.0 11.1 ALS3 - - 682DF100
10000 51x82 28 24 10.1 10.5 ALS3 - - 103KE100
15000  51x105 20 18 12.6 13.1 ALS3 - - 153KF100
22000 77x75 25 24 12.0 12.2 ALS3 - - 223ND100
22000  66x105 13 12 18.4 19.1 ALS3 - - 223MF100
22000 91x67 15 13 18.9 20.9 ALS3 - - 223RC100
22000 91x75 21 20 14.7 15.0 ALS3 - - 223RD100
33000  77x105 15 14 17.6 19.0 ALS3 - - 333NF100
33000 91x98 13 12 20.8 21.2 ALS3 - - 333RH100
47000  77x146 10 9 25.2 25.7 ALS3 - - 473NP100
68000  91x146 9 8 29.4 29.8 ALS3 - - 683RP100
68000  77x220 7 6 40.6 41.5 ALS3 - - 683NT100
100000  91x220 6 5 30.8 33.3 ALS3 - - 104RT100
200V d.c. 470 36x52 286 227 2.6 4.3 ALS3 - - 471DA200
680 36x62 199 158 3.9 5.4 ALS3 - - 681DB200
(230V surge) 1000 36x82 135 107 5.1 7.1 ALS3 - - 102DE200
1500 36x105 90 72 5.6 9.1 ALS3 - - 152DF200
2200 51x82 73 60 8.2 9.7 ALS3 - - 222KE200
3300 51x105 48 40 9.2 13.1 ALS3 - - 332KF200
4700 77x75 48 42 10.6 1.5 ALS3 - - 472ND200
4700 66x105 33 27 13.0 19.1 ALS3 - - 472MF200
6800 66x105 27 23 15.7 17.7 ALS3 - - 682MF200
6800 91x67 38 29 13.7 18.5 ALS3 - - 682RC200
6800 91x75 35 31 13.3 14.3 ALS3 - - 682RD200
10000  77x105 28 25 14.9 15.9 ALS3 - - 103NF200
10000 91x98 23 20 18.8 20.3 ALS3 - - 103RH200
15000  77x146 18 16 21.4 22.7 ALS3 - - 153NP200
22000  91x146 13 12 26.7 28.0 ALS3 - - 223RP200
22000  77x220 1 9 36.1 38.7 ALS3 - - 223NT200
33000 91x220 10 9 4.2 44.8 ALS3 - - 333RT200
250V d.c. 470 36x52 247 187 3.0 4.5 ALS3 - - 471DA250
680 36x62 172 131 3.8 5.6 ALS3 - - 681DB250
(287V surge) 1000 36x82 17 89 5.0 7.4 ALS3 - - 102DE250
1500 51x82 86 67 6.2 9.8 ALS3 - - 152KE250
2200 51x82 69 55 7.7 9.1 ALS3 - - 222KE250
3300 51x105 45 36 10.4 12.4 ALS3 - - 332KF250
3300 77x75 52 43 10.4 11.9 ALS3 - - 332ND250
4700 66x105 31 24 15.0 18.2 ALS3 - - 472MF250
4700 91x75 38 32 13.2 14.9 ALS3 - - 472RD250
6800 91x67 35 27 13.5 17.7 ALS3 - - 682RC250
6800 77x105 29 25 15.0 16.5 ALS3 - - 682NF250
10000 91x98 24 21 17.1 18.4 ALS3 - - 103RH250
10000  77x146 19 16 21.6 24.0 ALS3 - - 103NP250
15000  91x146 14 12 27.0 29.5 ALS3 - - 153RP250
15000  77x220 12 10 32.4 36.5 ALS3 - - 153NT250
22000  77x220 9 7 36.3 45.8 ALS3 - - 223NT250
22000  91x220 12 10 4.3 47.4 ALS3 - - 223RT250
* %
Mounting Style 0 or 1 ﬂ
Termination Style A,B,C,F,G,J,M or R

Ordering information
For full ordering details see pages 54 & 55.

BH CCOMPONENTS

part of the EVOX RIFA GROUP.



ALS30/31

Rated voltage Cap Case ESR (mQ) Impedance (mQ) Ripple current Type number
d.c. (uF) Size at 20°C at 20°C (A) at 85°C
(mm) 100Hz (max) 10 KHz (max) 100 Hz 10 KHz
350V d.c. 330 36x52 325 226 2.4 5.0 ALS3 - - 331DA350
470 36x82 223 154 3.4 7.2 ALS3 - - 471DE350
(385V surge) 680  36x105 154 107 4.4 9.0 ALS3 - - 681DF350
1000 51x82 116 82 6.1 10.6 ALS3 - - 102KE350
1500 51x105 77 55 8.2 13.5 ALS3 - - 152KF350
2200 51x105 66 48 8.7 14.1 ALS3 - - 222KF350
2200 77x75 66 50 9.1 15.6 ALS3 - - 222ND350
2200 66x105 52 37 11.9 19.3 ALS3 - - 222MF350
3300 66x105 39 29 12.8 20.3 ALS3 - - 332MF350
3300 91x67 49 34 11.8 18.0 ALS3 - - 332RC350
3300 91x75 47 36 12.5 19.8 ALS3 - - 332RD350
4700 77x105 35 27 14.7 21.7 ALS3 - - 472NF350
4700 91x98 31 24 16.3 26.6 ALS3 - - 472RH350
6800 77x146 23 18 19.3 26.0 ALS3 - - 682NP350
6800 91x146 20 15 24.9 34.4 ALS3 - - 682RP350
10000 77x220 15 11 31.7 39.3 ALS3 - - 103NT350
15000 91x220 15 12 38.2 46.4 ALS3 - - 153RT350
400V d.c. 220 36x52 570 387 2.1 4.4 ALS3 - - 221DA400
330 36x62 382 260 2.7 5.5 ALS3 - - 331DB400
(440V surge) 470 36x82 267 182 3.5 7.1 ALS3 - - 471DE400
680 36x105 185 126 4.4 8.8 ALS3 - - 681DF400
1000 51x82 139 98 5.8 10.3 ALS3 - - 102KE400
1500 51x105 92 65 7.8 13.1 ALS3 - - 152KF400
1500 77x75 97 70 8.3 14.7 ALS3 - - 152ND400
2200 51x105 78 56 8.4 13.5 ALS3 - - 222KF400
2200 66x105 62 44 1.2 18.8 ALS3 - - 222MF400
2200 91x75 69 50 10.7 18.9 ALS3 - - 222RD400
3300 91x67 53 38 11.7 17.1 ALS3 - - 332RC400
3300 77x105 49 36 13.4 21.3 ALS3 - - 332NF400
3300 91x98 45 32 14.9 25.3 ALS3 - - 332RH400
4700 77x105 38 26 14.6 20.9 ALS3 - - 472NF400
4700 91x98 36 26 17.1 25.4 ALS3 - - 472RH400
4700 77x146 33 24 18.0 26.0 ALS3 - - 472NP400
6800 77x146 27 20 19.5 26.9 ALS3 - - 682NP400
6800 91x146 24 17 23.2 32.9 ALS3 - - 682RP400
6800 77x220 22 15 29.0 40.7 ALS3 - - 682NT400
10000 91x220 17 12 35.7 49.4 ALS3 - - 103RT400
415V d.c. 220 36x52 555 368 2.1 4.4 ALS3 - - 221DA415
330 36x62 372 247 2.7 5.6 ALS3 - - 331DB415
(456V surge) 470 36x82 261 173 3.5 7.2 ALS3 - - 471DE415
680 36x105 180 120 4.5 9.0 ALS3 - - 681DF415
1000 51x82 136 94 5.7 10.4 ALS3 - - 102KE415
1500 51x105 90 62 7.6 13.1 ALS3 - - 152KF415
1500 77x75 9% 68 8.1 14.7 ALS3 - - 152ND415
2200 66x105 61 42 11.0 18.9 ALS3 - - 222MF415
2200 91x67 71 49 10.5 17.5 ALS3 - - 222RC415
2200 91x75 68 49 11.1 18.9 ALS3 - - 222RD415
3300 77x105 48 36 13.4 21.3 ALS3 - - 332NF415
3300 91x98 45 32 14.6 25.3 ALS3 - - 332RH415
4700 77x146 33 24 17.6 25.9 ALS3 - - 472NP415
6800 91x146 23 17 22.7 32.8 ALS3 - - 682RP415
6800 77x220 21 15 28.5 40.1 ALS3 - - 682NT415
10000 91x220 17 12 35.2 48.7 ALS3 - - 103RT415

Mounting Style 0 or 1 ﬂ
Termination Style A,B,C,F,G,J,Mor R

Ordering information
For full ordering details see pages 54 & 55.

H‘ COMPONENTS

part of the EVOX RIFA GROUP



Serew~lermina ALS30/31

Rated voltage Cap Case ESR (mQ) Impedance (mQ) Ripple current Type number
d.c. (uF) Size at 20°C at 20°C (A) at 85°C
(mm) 100Hz (max) 10 KHz (max) 100 Hz 10 KHz
450V d.c. 150 36x52 735 485 1.8 4.1 ALS3 - - 151DA450
220 36x62 502 332 2.4 5.1 ALS3 - - 221DB450
(495V surge) 330 36x82 335 221 3.1 6.7 ALS3 - - 331DE450
470 36x105 235 155 4.0 8.4 ALS3 - - 471DF450
680 51x82 175 17 4.9 9.9 ALS3 - - 681KE450
1000 51x105 118 79 6.5 12.6 ALS3 - - 102KF450
1500 77x75 95 65 8.7 14.9 ALS3 - - 152ND450
1500 66x105 81 52 9.5 17.4 ALS3 - - 152MF450
2200 91x67 74 46 9.6 15.4 ALS3 - - 222RC450
2200 91x75 67 47 11.5 19.0 ALS3 - - 222RD450
2200 66x105 67 47 1.1 19.3 ALS3 - - 222MF450
2200 77x105 59 41 12.2 21.1 ALS3 - - 222NF450
3300 91x75 53 33 12.6 17.9 ALS3 - - 332RD450
3300 77x105 40 30 13.8 21.2 ALS3 - - 332NF450
3300 91x98 44 30 15.6 25.5 ALS3 - - 332RH450
3300 77x146 39 27 16.1 25.1 ALS3 - - 332NP450
4700 77x146 36 26 17.1 25.2 ALS3 - - 472NP450
4700 91x146 29 19 21.0 31.8 ALS3 - - 472RP450
6800 77x220 21 14 27.4 38.8 ALS3 - - 682NT450
10000 91x220 18 13 33.4 46.5 ALS3 - - 103RT450
500V d.c. 100 36x52 1231 847 1.6 2.9 ALS3 - - 101DA500
150 36x62 823 566 2.0 3.7 ALS3 - - 151DB500
(550V surge) 220 36x82 560 386 2.7 4.8 ALS3 - - 221DE500
330 36x82 450 350 3.2 5.7 ALS3 - - 331DE500
330 36x105 374 258 3.5 6.2 ALS3 - - 331DF500
470 51x82 276 194 4.4 7.5 ALS3 - - 471KE500
680 51x105 190 133 5.7 9.6 ALS3 - - 681KF500
1000 77x75 173 109 7.6 12.2 ALS3 - - 102ND500
1000 66x105 137 9% 8.1 13.8 ALS3 - - 102MF500
1500 77x105 91 65 10.6 17.0 ALS3 - - 152NF500
1500 91x67 110 87 9.5 14.3 ALS3 - - 152RC500
1500 91x75 119 76 10.1 15.9 ALS3 - - 152RD500
2200 91x98 80 50 13.7 21.1 ALS3 - - 222RH500
2200 77x146 62 44 14.3 21.8 ALS3 - - 222NP500
3300 77x146 54 39 15.3 22.6 ALS3 - - 332NP500
3300 91x146 51 32 19.0 28.3 ALS3 - - 332RP500
4700 77x220 37 24 24.3 33.3 ALS3 - - 472NT500
6800 91x220 27 22 26.5 41.3 ALS3 - - 682RT500
550V d.c. 68 36x52 2178 1665 0.9 1.3 ALS3 - - 680DA550
150 36x82 988 757 1.4 2.3 ALS3 - - 151DE550
(605V surge) 220 36x105 674 500 2.0 2.9 ALS3 - - 221DF550
330 51x82 458 330 3.0 3.4 ALS3 - - 331KE550
470 51x105 321 248 3.9 4.4 ALS3 - - 471KF550
680 77x75 230 173 4.5 6.0 ALS3 - - 681ND550
680 66x105 221 170 5.4 6.3 ALS3 - - 681MF550
1000 66x105 154 120 5.8 7.5 ALS3 - - 102MF550
1200 77x105 130 99 7.7 9.0 ALS3 - - 122NF550
1500 77x146 103 80 9.0 11.4 ALS3 - - 152NP550
1800 77x146 87 68 11.0 12.2 ALS3 - - 182NP550
2200 77x220 70 55 13.9 17.3 ALS3 - - 222NT550
3300 77x220 48 40 16.5 20.2 ALS3 - - 332NT550
600V d.c. 68 36x52 2772 1662 0.7 1.3 ALS3 - - 680DA600
100 36x62 1886 1131 0.9 1.6 ALS3 - - 101DB600
(640V surge) 150 36x82 1257 754 13 2.1 ALS3 - - 151DE600
220 36x105 858 514 1.6 2.8 ALS3 - - 221DF600
220 51x82 862 519 2.1 3.5 ALS3 - - 221KE600
470 51x105 407 246 3.3 5.5 ALS3 - - 471KF600
680 66x105 281 170 4.7 7.8 ALS3 - - 681MF600
680 77x75 290 179 4.4 7.0 ALS3 - - 681ND600
1000 77x105 194 119 6.2 10.0 ALS3 - - 102NF600
1500 77x146 130 79 8.7 14.0 ALS3 - - 152NP600
2200 77x220 88 53 13.5 18.3 ALS3 - - 222NT600
* %
Mounting Style 0 or 1 ﬂ
Termination Style A,B,C,F,G,J,M or R

Ordering information
For full ordering details see pages 54 & 55.

BH CCOMPONENTS

part of the EVOX RIFA GROUP.



ALS40/41

Rated voltage Cap Case ESR (mQ) Impedance (mQ) Ripple current Type number
d.c. (WF) Size at 20°C at 20°C (A) at 105°C
(mm)  100Hz (max) 10 KHz (max) 100Hz 10 KHz
10V d.c. 33000 36x52 22 19 7.1 7.5 ALS4 - - 333DA010
47000  36x62 16 14 8.6 9.0 ALS4 - - 473DB010
(11.5V surge) 68000  36x82 11 10 1.5 12.0 ALS4 - - 683DE010
100000  36x105 8 7 14.5 15.1 ALS4 - - 104DF010
150000  51x82 12 11 12.3 12.4 ALS4 - - 154KE010
220000  51x105 8 8 16.8 17.0 ALS4 - - 224KF010
330000  77x75 13 12 14.1 14.1 ALS4 - - 334ND010
330000  66x105 6 6 24.4 24.7 ALS4 - - 334MFO10
330000  91x67 8 8 19.2 19.7 ALS4 - - 334RCO10
470000  91x75 11 11 16.4 16.5 ALS4 - - 474RD010
470000  77x105 7 7 23.1 23.2 ALS4 - - 474NF010
680000  91x98 7 7 23.5 23.6 ALS4 - - 684RHO10
680000  77x146 5 5 27.4 27.8 ALS4 - - 684NP0O10
1000000  91x146 4 4 38.3 38.5 ALS4 - - 105RP010
1000000  77x220 4 4 37.8 38.3 ALS4 - - 105NT010
1500000  91x220 4 4 45.5 46.0 ALS4 - - 155RT010
16V d.c. 22000  36x52 24 20 7.0 7.4 ALS4 - - 223DA016
33000  36x62 17 14 8.5 8.9 ALS4 - - 333DB016
(18.4V surge) 47000  36x82 11 10 1.3 11.9 ALS4 - - 473DE016
68000  36x105 9 8 14.3 15.0 ALS4 - - 683DF016
100000  51x82 12 11 12.3 12.5 ALS4 - - 104KE016
150000  51x105 8 8 16.7 17.0 ALS4 - - 154KF016
220000  77x75 12 12 14.2 14.3 ALS4 - - 224ND016
220000  66x105 6 6 24.5 24.8 ALS4 - - 224MF016
330000  91x67 8 8 19.2 19.7 ALS4 - - 334RCO16
330000 9175 11 11 16.2 16.2 ALS4 - - 334RD016
330000  77x105 7 7 2.7 22.9 ALS4 - - 334NFO16
470000  91x98 8 7 23.4 23.5 ALS4 - - 474RHO16
470000  77x146 5 5 32.3 32.6 ALS4 - - 474NP016
680000  91x146 4 4 38.3 38.5 ALS4 - - 684RP016
680000  77x220 4 4 39.6 40.4 ALS4 - - 684NTO16
1000000  91x220 4 3 47.8 48.6 ALS4 - - 105RT016
25V d.c. 15000 36x52 24 20 6.9 7.3 ALS4 - - 153DA025
22000  36x62 17 15 8.4 8.8 ALS4 - - 223DB025
(28.5V surge) 33000  36x82 11 10 1.1 1.7 ALS4 - - 333DE025
47000  36x105 9 8 14.0 14.7 ALS4 - - 473DF025
68000  51x82 13 12 12.0 12.2 ALS4 - - 683KE025
100000  51x105 9 8 16.4 16.7 ALS4 - - 104KF025
150000  77x75 13 13 13.7 13.8 ALS4 - - 154ND025
150000  66x105 6 6 23.8 24.1 ALS4 - - 154MF025
150000  91x75 10 10 18.7 18.8 ALS4 - - 154RD025
220000  91x67 9 8 18.6 19.2 ALS4 - - 224RC025
220000  77x105 8 7 2.3 2.4 ALS4 - - 224NF025
330000  91x98 8 8 2.3 22.4 ALS4 - - 334RH025
330000  77x146 5 5 31.0 31.1 ALS4 - - 334NP025
470000  91x146 4 4 36.9 37.1 ALS4 - - 474RP025
470000  77x220 4 4 38.9 39.8 ALS4 - - 474NT025
680000  91x220 4 3 47.0 48.1 ALS4 - - 684RT025
40V d.c. 10000  36x52 23 19 6.6 6.9 ALS4 - - 103DA040
10000  36x62 19 16 8.1 8.7 ALS4 - - 103DB040
(46V surge) 15000  36x82 13 10 10.8 11.6 ALS4 - - 153DE040
22000  36x105 10 8 13.6 14.5 ALS4 - - 223DF040
33000 51x82 13 12 1.7 12.0 ALS4 - - 333KE040
47000  51x105 9 8 16.2 16.6 ALS4 - - 473KF040
68000  77x75 13 13 13.9 14.0 ALS4 - - 683ND040
100000  66x105 7 7 20.6 20.8 ALS4 - - 104MF040
100000  91x67 10 9 17.7 18.5 ALS4 - - 104RC0O40
100000 9175 12 11 16.0 16.1 ALS4 - - 104RD040
100000  77x105 7 7 2.4 2.7 ALS4 - - 104NF040
150000  91x98 8 8 22.6 22.8 ALS4 - - 154RH040
150000  77x146 5 5 31.3 31.6 ALS4 - - 154NP040
220000  91x146 4 4 36.8 37.1 ALS4 - - 224RP040
220000  77x220 4 4 37.7 39.2 ALS4 - - 224NT040
330000  91x220 4 4 45.6 47.0 ALS4 - - 334RT040
* %
o ) Mounting Style 0 or 1 ﬂ
Ordering information Termination Style A,B,C,F,G,J,M or R

For full ordering details see pages 54 & 55.

H‘ COMPONENTS

part of the EVOX RIFA GROUP

25



Serew~lermina ALS40/4

Rated voltage Cap Case ESR (mQ) Impedance (mQ) Ripple current Type number
d.c. (WF) Size at 20°C at 20°C (A) at 105°C
(mm) 100Hz (max) 10 KHz (max) 100 Hz 10 KHz
63V d.c. 3300 36x52 38 30 5.5 6.2 ALS4 - - 332DA063
4700 36x62 27 22 6.7 7.5 ALS4 - - 472DB063
(72.5V surge) 6800 36x82 19 15 8.9 10.0 ALS4 - - 682DE063
10000  36x105 13 10 11.2 12.6 ALS4 - - 103DF063
15000 51x82 16 15 10.7 1.2 ALS4 - - 153KE063
22000  51x105 11 10 14.7 15.3 ALS4 - - 223KF063
22000 77x75 14 12 14.6 15.1 ALS4 - - 223ND063
33000  66x105 8 7 21.3 22.2 ALS4 - - 333MF063
33000 91x67 10 8 18.1 20.1 ALS4 - - 333RC063
33000 91x75 11 11 17.1 17.5 ALS4 - - 333RD063
47000  77x105 9 8 20.7 21.1 ALS4 - - 473NF063
47000 91x98 8 7 24.4 25.1 ALS4 - - 473RH063
68000  77x146 6 6 29.1 29.8 ALS4 - - 683NP063
100000  91x146 5 5 34.5 35.2 ALS4 - - 104RP063
100000  77x220 4 4 36.7 38.8 ALS4 - - 104NT063
150000  91x220 4 4 44.4 46.5 ALS4 - - 154RT063
100V d.c. 1500 36x52 79 62 3.9 4.5 ALS4 - - 152DA100
2200 36x62 56 44 4.8 5.5 ALS4 - - 222DB100
(115V surge) 3300 36x82 37 29 6.4 7.4 ALS4 - - 332DE100
4700 36x105 26 21 8.1 9.3 ALS4 - - 472DF100
6800 51x82 32 28 8.0 8.4 ALS4 - - 682KE100
10000  51x105 21 18 10.9 1.5 ALS4 - - 103KF100
15000 77x75 28 26 9.7 9.9 ALS4 - - 153ND100
15000  66x105 14 12 15.8 16.7 ALS4 - - 153MF100
15000 91x75 20 18 12.9 13.4 ALS4 - - 153RD100
22000 91x67 17 16 14.3 15.2 ALS4 - - 223RC100
22000  77x105 15 13 15.5 16.0 ALS4 - - 223NF100
22000 91x98 13 11 18.4 19.0 ALS4 - - 223RH100
33000  77x146 10 10 21.6 22.2 ALS4 - - 333NP100
47000  91x146 9 8 25.9 26.5 ALS4 - - 473RP100
47000  77x220 7 6 35.4 36.6 ALS4 - - 473NT100
100000  91x220 6 6 37.2 37.9 ALS4 - - 104RT100
200V d.c. 680 36x52 195 154 2.9 4.0 ALS4 - - 681DA200
680 36x62 188 147 3.3 4.6 ALS4 - - 681DB200
(230V surge) 1000 36x82 128 100 43 6.1 ALS4 - - 102DE200
1500 36x105 86 67 5.6 7.8 ALS4 - - 152DF200
2200 51x82 71 58 6.8 8.0 ALS4 - - 222KE200
3300 51x105 47 38 9.1 10.9 ALS4 - - 332KF200
4700 77x75 48 42 8.7 9.4 ALS4 - - 472ND200
6800 66x105 27 23 12.9 14.5 ALS4 - - 682MF200
6800 91x67 37 28 11.8 15.9 ALS4 - - 682RC200
6800 91x75 36 32 10.9 1.7 ALS4 - - 682RD200
6800 77x105 29 25 13.4 14.8 ALS4 - - 682NF200
10000 91x98 23 20 15.4 16.6 ALS4 - - 103RH200
10000  77x146 19 16 19.3 21.5 ALS4 - - 103NP200
15000  91x146 14 12 24.2 26.5 ALS4 - - 153RP200
22000  77x220 il 10 29.5 31.6 ALS4 - - 223NT200
33000  91x220 10 8 34.3 36.4 ALS4 - - 333RT200
250V d.c. 470 36x52 235 174 2.5 3.9 ALS4 - - 471DA250
680 36x62 164 122 3.2 4.8 ALS4 - - 681DB250
(287V surge) 1000 36x82 11 83 42 6.3 ALS4 - - 102DE250
1000 36x105 108 79 4.7 7.5 ALS4 - - 102DF250
1500 51x82 83 64 6.2 8.2 ALS4 - - 152KE250
2200 51x105 56 42 8.3 11.1 ALS4 - - 222KF250
3300 7775 52 42 8.5 9.7 ALS4 - - 332ND250
4700 66x105 30 24 12.3 15.0 ALS4 - - 472MF250
4700 91x67 42 30 10.9 16.3 ALS4 - - 472RC250
4700 91x75 38 32 10.7 12.1 ALS4 - - 472RD250
6800 77x105 30 25 12.1 13.4 ALS4 - - 682NF250
6800 91x98 25 20 15.1 17.3 ALS4 - - 682RH250
10000  77x146 19 16 17.5 19.5 ALS4 - - 103NP250
15000  91x146 14 12 21.9 23.9 ALS4 - - 153RP250
15000  77x220 12 10 29.2 33.0 ALS4 - - 153NT250
22000  91x220 11 9 34.1 38.2 ALS4 - - 223RT250
_T *
.. . Mounting Style 0 or 1 J
Ordering information Termination Style A,B,C,F,G,J,M or R

For full ordering details see pages 54 & 55.

BH CCOMPONENTS

part of the EVOX RIFA GROUP.



ALS40/41

Rated voltage Cap Case ESR (mQ) Impedance (mQ) Ripple current Type number
d.c. (WF) Size at 20°C at 20°C (A) at 105°C
(mm)  100Hz (max) 10 KHz (max) 100 Hz 10 KHz
350V d.c. 220 36x52 457 303 1.8 4.5 ALS4 - - 221DA350
330 36x62 307 204 2.4 5.7 ALS4 - - 331DB350
(385V surge) 470 36x82 215 143 3.0 7.2 ALS4 - - 471DE350
680 36x105 149 99 3.9 8.9 ALS4 - - 681DF350
1000 51x82 113 78 5.0 10.0 ALS4 - - 102KE350
1500  51x105 75 52 6.8 12.5 ALS4 - - 152KF350
2200 77x75 66 49 8.3 13.7 ALS4 - - 222ND350
2200  66x105 51 35 9.8 17.9 ALS4 - - 222MF350
2200 91x67 74 52 9.1 16.4 ALS4 - - 222RC350
2200 91x75 56 40 9.4 17.8 ALS4 - - 222RD350
3300  77x105 41 30 1.7 19.7 ALS4 - - 332NF350
4700 91x98 31 23 14.6 23.2 ALS4 - - 472RH350
4700  77x146 27 20 15.7 23.6 ALS4 - - 472NP350
6800  91x146 19 14 20.3 29.7 ALS4 - - 682RP350
6800  77x220 23 17 25.4 35.7 ALS4 - - 682NT350
10000  91x220 21 16 31.0 2.7 ALS4 - - 103RT350
400V d.c. 220 36x52 542 349 2.0 4.9 ALS4 - - 221DA400
220 36x62 537 344 2.1 5.4 ALS4 - - 221DB400
(440V surge) 470 36x82 254 164 3.2 7.8 ALS4 - - 471DE400
470 36x105 251 161 3.5 8.5 ALS4 - - 471DF400
680 51x82 183 121 4.2 9.8 ALS4 - - 681KE400
1000 51x105 124 81 5.6 12.3 ALS4 - - 102KF400
1500 77x75 93 64 7.6 13.9 ALS4 - - 152ND400
2200 66x105 60 41 9.7 18.1 ALS4 - - 222MF400
2200 91x67 63 44 9.4 15.9 ALS4 - - 222RC400
2200 91x75 67 47 10.0 17.5 ALS4 - - 222RD400
2200  77x105 62 2 10.6 19.8 ALS4 - - 222NF400
3300 91x98 44 31 13.6 23.4 ALS4 - - 332RH400
4700  77x146 33 23 15.4 2.6 ALS4 - - 472NP400
6800  91x146 23 17 20.0 28.3 ALS4 - - 682RP400
6800  77x220 21 15 23.5 33.3 ALS4 - - 682NT400
10000  91x220 18 14 29.0 40.3 ALS4 - - 103RT400
415V d.c. 220 36x52 530 331 2.0 5.0 ALS4 - - 221DA415
220 36x62 524 325 2.1 5.4 ALS4 - - 221DB415
(456V surge) 330 36x82 349 217 2.8 7.1 ALS4 - - 331DE415
470 36x105 245 152 3.5 8.7 ALS4 - - 471DF415
680 51x82 180 115 4.4 9.9 ALS4 - - 681KE415
1000  51x105 122 77 5.8 12.3 ALS4 - - 102KF415
1500 77x75 95 65 7.6 13.8 ALS4 - - 152ND415
2200  66x105 60 39 9.7 18.1 ALS4 - - 222MF415
2200 91x67 61 43 9.4 15.8 ALS4 - - 222RC415
2200 91x75 67 47 10.0 17.3 ALS4 - - 222RD415
2200  77x105 61 41 10.7 19.7 ALS4 - - 222NF415
3300 91x98 44 30 13.6 23.3 ALS4 - - 332RH415
3300  77x146 40 27 14.2 23.6 ALS4 - - 332NP415
4700  91x146 29 19 18.5 29.8 ALS4 - - 472RP415
6800  77x220 21 14 23.0 32.5 ALS4 - - 682NT415
10000  91x220 18 14 28.3 39.3 ALS4 - - 103RT415
450V d.c. 150 36x52 721 360 1.8 4.5 ALS4 - - 151DA450
150 36x62 715 356 1.9 4.8 ALS4 - - 151DB450
(495V surge) 220 36x82 487 242 25 6.2 ALS4 - - 221DE450
330 36x105 325 162 3.2 7.9 ALS4 - - 331DF450
470 51x82 239 123 4.1 9.0 ALS4 - - 471KE450
680 51x105 164 84 5.3 1.3 ALS4 - - 681KF450
1000 77x75 125 69 7.0 13.2 ALS4 - - 102ND450
1500 66x105 79 2 8.9 17.1 ALS4 - - 152MF450
1500 91x67 78 57 8.7 15.3 ALS4 - - 152RC450
1500 91x75 87 49 9.3 16.7 ALS4 - - 152RD450
1500 77x105 80 43 9.8 18.7 ALS4 - - 152NF450
2200 91x98 58 2 12.5 22.5 ALS4 - - 222RH450
2200  77x146 54 29 13.1 2.9 ALS4 - - 222NP450
3300 77x146 38 27 14.6 22.0 ALS4 - - 332NP450
3300 91x146 37 20 17.4 28.9 ALS4 - - 332RP450
4700  77x220 27 15 21.9 32.0 ALS4 - - 472NT450
6800  91x220 19 15 23.5 39.2 ALS4 - - 682RT450
. . . * %
Ordering m).‘ormati'on Mounting Style 0 or 1 ﬂ
For full ordering details see pages 54 & 55. Termination Style A,B,C,F,G,J,M or R

H‘ COMPONENTS

part of the EVOX RIFA GROUP



52

ACCERSSOLIES

DIMENSIONS mm MATERIAL Zinc plated steel
Horizontal Mounting

TYPE

H1
H2

CAN
DIA

25.0
35.0

A

40.0
52.0

Vertical Mounting

TYPE

V2
V3
V9

TYPE

V4
V6
V8

TYPE

UTE2736

TYPE

V10

V11

V90
UTE2737
UTE2738
UTE2739

Note

CAN

DIA
25.0
35.0
40.0

CAN
DIA
51.0
45.0
63.5

CAN
DIA
35.0

CAN

DIA
65.0
76.0
90.0
50.0
65.0
72.0

49.0
58.0
65.0

75.0
69.5
88.9

63.0

90.0
103.0
116.0
75.5
88.5
97.0

25.4
17.4
25.4

12.2

40.0
45.5
53.5
33.5
39.0
44.0

22.3
22.3

19.0
19.0
19.0

64.0
58.0
77.5

54.0

30.0
30.0
30.0
27.0
27.0
28.0

5.0
5.0
5.0
4.3
4.3
4.3

C F
12.8 10.0
12.8 10.0

C F
37.0 10.0
45.0 9.0
52.4 9.5

E F

5.0 10.0

4.0 10.0

50 9.5

D F

17.2 9.0

E F
45 -
4.5
45 -
43 395
43 45.0
43 50.0

When using mounting clamps care should be taken not to
obscure any safety vent in the can.

BH

‘ COMPONENTS

part of the EVOX RIFA GROUP.

A4

r 3

0

> 0]
e

¢ 43
=
A
1OZ A
OV o
)
A A
F
E+
f v



53

ACCRSSONES

INSULATED VERSION
M8 Stud (M12 Stud)

| | 17(19) ‘
27720773) . ‘ . ‘ ‘

2778(2779 1~5 % : 22 1.0 25(29 N 25(30)

L l | Fy * l l * v v |:|:+

2792(2793,2728,1734) |2 % = 3.0 1.7 2.0
- e}
v v Sv
(2734) (2728) 2792(2793) 2772(2773) 2778(2779)

NON-INSULATED VERSION
M8 Stud (M12 Stud) 13(19) 14(21)

v v
X s
0.8(1.0)
6.5(7.0)
2352(2353) —>
(2353) == 2789(2788) 2352(2353)

2789(2788) —» X3

Dimensions mm. All the above accessories may be ordered individually using the part number shown, or as kits using the kit
part numbers shown below.

Kit Contents and Ordering Information

STANDARD KITS

Part code
2352
2353
2772
2773
2778
2779
2788
2789
2792
2793

Description

Steel washer M8

Steel washer M12
Stepped poly washer M8
Stepped poly washer M12
Plain poly washer M8
Plain poly washer M12
Steel nut M12

Steel nut M8

Nylon nut M8

Nylon nut M12

Kit description

SPECIAL KITS

Part code
2352
2353
2772
2773
2778
2779
2788
2789
2728
2734

Description

Steel washer M8

Steel washer M12
Stepped poly washer M8
Stepped poly washer M12
Plain poly washer M8
Plain poly washer M12
Steel nut M12

Steel nut M8

Nylon nut M12

Nylon nut M12

2740

Insulated
M8

2684

Kit order number

2741 2782 2785
- . -
[ )
[ )
) -
- - °
. -
o - -
Insulated Non-insulated Non-insulated
M12 M8 M12
Kit order number
2685 2690 2691 2692 2693 2695
; ; B o ; :
[ ) - ) -
[ ) [ ) o
[ ) [ ) - [ ] [ ]
[ ) [ )
- [ ] [ ]
[ ) [ ) [ )
- [ ) [ ]

H‘ COMPONENTS

part of the EVOX RIFA GROUP



54

@Td@?ﬁmation

SCREW TERMINAL CAPACITORS
ALS30/31, ALS40/41

SCREW TERMINAL

TERMINATION STYLE A,B,C,F,G,J,M or R

CASE SIZE (code)

RATED VOLTAGE d.c.

SNAP-IN CAPACITORS
ALC10, ALC40
ALC12, ALC42

SNAP-IN
RANGE 10, 40, 12, 42

CASE SIZE (code)

RATED VOLTAGE d.c.

ALP10/20/22, ALT10/11/20/21/22/23

AL S 30 682 RP 350
ALUMINIUM ELECTROLYTIC l | |
RANGE MOUNTING STYLE 30, 40 plain can 31, 41 stud can
CAPACITANCE pF  (first two digits equals first two significant figures;
third digit is number of zeros following eg. 682 = 6,800uF)
AL C 10 272 AB 040
ALUMINIUM ELECTROLYTIC l | ‘
TERMINATION STYLE Long pin (6.3mm): A=2 Pin, C=4 pin, G=5 pin
Short pin (4.0mm): D=2 pin, E=4 pin, F=3 pin, H=5 pin
CAPACITANCE pF (first two digits equals first two significant figures;
third digit is number of zeros following eg. 272 = 2,700uF)
PCB & SOLDER TAG CAPACITORS
AL P 10A 223 DF 350

ALUMINIUM ELECTROLYTIC |
TERMINATION STYLE T=Tag, P=Pin

RANGE MOUNTING STYLE 10A, 20A, 22A plain can
11A, 21A, 23A stud can (stud only available on ALT series)

CAPACITANCE pF  (first two digits equals first two significant figures;
third digit is number of zeros following eg. 223 = 22,000uF)

CASE SIZE (code)

RATED VOLTAGE d.c.

H‘ COMPONENTS

part of the EVOX RIFA GROUP



SPECIAL PART NUMBERS

Used when the design is different in any way from the data listed
for a standard item. This can include anything from special
electrical parameters to special print detail.

AL
ALUMINIUM ELECTROLYTIC |

TYPE I.E. SCREW TERMINAL

RANGE AND MOUNTING STYLE

55

30 A 1001 MF

TERMINATION STYLE

SEQUENTIAL NUMBER UNIQUE TO DESIGN
CASE CODE (code)

SAMPLE PART NUMBERS

The sample part number is used when a design has been raised as a
feasibility, with or without samples being made. A full part number
is issued, either as a standard or special design, once the item goes
to full production.

NS
NON STANDARD I

RANGE

4 B / 123

STYLE

SEQUENTIAL NUMBER UNIQUE TO DESIGN

H‘ COMPONENTS

part of the EVOX RIFA GROUP



CERTIFICATE OF REGISTRATION

Quality Management System

BHC Components Limited

. 20 Cumberland Drive
-

Dorset
United Kingdom
D14 9TE

a Quality 'y
lies with the requi of
BS EN SO 3001:2000

far the activities detailed in the scope of

registration.

Certificate No: Fi 11285

Signed on behaif of BSI

Originally registered: 12 Mar 1991

UKAS _“...._.i.... .
-——

5 ==
This is nat a legal document and cannot be used as such. This certificate does not expire. Da‘
To check its validity telephone +44 (0)20 8996 9001 or visit wwwy. bﬂ-gmbulmllunmmnnm -

Further clarifications ragardinsu the scope of this certificate and the may be

by
Group Heidquamm m Chiswick High Road, London \Wa aaL, \.IKA

The British it B by Royal Charter. : Management
Systems

BH CCOMPONENTS

part of the EVOX RIFA GROUP.



